“ Princlples of Finance
?8'12 Conceptual and Analytical Short Questions

Dﬁﬁne Security Valuation. ,
1Scuss the basic elements of Security Valuation.
Discuss about Basic Valuation Model.
Write Short Notes: Liquidation Value; Going Concern Value; Book Value; Magy,, Vai
- Intrinsic Value; Face/Par Value; Replacement Value; Present Value,
5. Distinguishes between the following concepts:
(a) Liquidation Value versus Going Concern Value.
(b) Book Value versus Face Value.
(¢) Market Value Verses Intrinsic Value. , ,
6. Discuss the Advanlage/lmportance/ Necessity/ Cases of Security Valuation,
7. What do you mean by Bond Valuation?
8.
9.

W

What do you mean by Preferred Stock Valuation?
What do you mean by common Stock Valuation?
10. What is Dividend Discount Model (DDM)? Explain.

08.13 Numerical Questions/ Exercise

Lxercise- 01 . -

Mr. Maruf has bought common stock of Mak Real Estate Ltd. The expected dividend y 1, .
of the year is Tk. 26 and market price is Tk. 265. If the expected return of the stock js 12%, vy
is the value of the stock? - :

[Exercise. 07

Mr. Mahfuz has bought common stock of Mark Real Estate Ltd. The expected dividend at s .
of the year'is Tk. 32 and market price is Tk. 280. If the expected return of the stock is [4%. Vg
is the value of the stock? :

Mr. Mahfuz is planning to buy a share for one year. He expects dividend of Tk. 25 next year =
the share. If he would sell the share at Tk. 185 at the end of the year, when the required rat: ¢
return is 12%, what is the value of the share?

Mr. Mahmud is planning to buy a share for one year. He expects dividend of Tk. 20 new
from the share. If he would sell the share at Tk. 180 at the end of the year, when the required i
of return is 11%, what is the value of the share? | |

EJxercise- U.i
Mrs. Munira has purchased a common stock from Alif and Company. The expected divide
from the stock are Tk. 24, 26, 27, 32 & 35 per year respectively and at the end of § yean l
market value would be expected Tk. 320, If discount rate is 12%, what is the value of &
common stock?” ,

Mrs. Mowya has purchased a common stock from Alif and Company. The expected dmdté
from the stock are Tk. 22, 24, 28, 34 & 36 per year respectively and at the end of 5 year :
market value would be expected Tk. 280. If discount rate ig 13%, what is the value ©

common stock?

’
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‘ Ld. is expecting (o pay a dividend of Tk. 25 per share next year. The dividends are ¢ «prcted

oW constantly at the rate of 5%. If the cost of capital is 14%, what is the present value of 7

= s R\
2.3
Y

2

=11, is expecting to pay a dividend of Tk. 35 per share next year. The dividends &=
cxpccled to grOW Constantly_ at the rate of 4%. If the cost of Capilﬂl 1s 15%, what 15 the :rff,rrf
calue of the share? ‘

vercise- 11 £ : '
T Sea Foods Ltd’s pay out ratio is 60%; the cost of capital is 13%. If the expected sarminis
¢ share are Tk. 25 and growth rate of dividend is 6%. Calculate the value of share?

i

P

|
Aslam Sea Foods Ltd’s pay out ratio is 60%; the cost of capital is 14%. If the expected carmings

per share are Tk. 30 and growth rate of dividend is 5%. Calculate the value of share?

i

I

xercise-
As a financial manager of a finance company you are calculating the potential purchase of a
business currently generating Tk. 20,000 after tax cash flows (Do). Based on a review of same
dsk investment opportunities, you must earn 14% rate of return. You have decided to calculate
the firm value, when the expected growth rate is as follows, what is the value of the firms-
() 6% to infinity? ,
(i) Zero percent to infinity? - : -
(ii) 4% for the first 4 year followed by a constant annual rate of 5% from year 5 to infimty”

As a financial manager of a finance company you are calculating the potential pgrch.ug of a
business currently generating Tk. 25,000 after tax cash flows (Do). Based on a review of same
risk investment opportunities, you must earn 12% rate of return, You have dccnda! W caloulate
the firm value, when tlie expected growth rate is us follows, what is the value of the tirma-

) 5% to infinity?

() Zero percent to infinity? -

(ii)) 3% for the first 4 year followed by a constant annual rate of 4% from year 5 to infinity?
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; he last 5 years:
Satun Corporation Ltd. paid the following dividends ochH = a4 [
[ Years [ 1 B 20 21_I o
 [Dividend | 15 18 hare in next year.
" The Company is thinking to provide Tk. 27 dividend per|5 of the share?
(i) If the required rate of return is 14%, what Is,the vnluc ( the share?
(ii)  If the required rate of return is 15%, what is the value 0
'l the last 5 years:
Shakha Corporation Ltd. paid the following dividends over th Z —
| Years | 1 2 2 28 -{—‘ﬁ '
[ Dividend | 16 24 20 ___ axt VORr
The Company is thinking to provide Tk. 34 divu.iend per sharct': llr]l n har:::, 2 ‘
(i)  If the required rate of return is 14%, what is the value ¢:)f the sharc"
(ii)  If the required rate of feturn is 12%, what is the value of the s e

Determine the price of a share of Euro-Cola Company f_ro.m the information given below.
The current dividend is given as Tk. 4, growth rate of dividend for first 3 years is 4, oW

of dividend for next 4 years is 5%, perpetual growth rate is 6%, and discount rate is 147,

o

' Determine the price of a share of Asa-Cola Company from the information givep below:
. The current dividend is given as Tk. 3, growth rate of dividend fer ﬁr§t 4 years is .6%. EIOW r
of dividend for next 3 years is 7%, perpetual growth_rate is 5%, and d_lscount rate is 15%.

Shun Cement Ltd’s annual dividend is Tk. 25 per share and the firm’s required rate of rata :
14%. Find out the market price of the shares if:

(i) Dividend is expected to grow at 7% for 5 years followed.by 5% Constant growth raz =
~ year 6 to infinity.

(i) Dividends are expected to grow at 8% for 4 years followed by 7%, constant growth r
from year 5 to infinity. | :

Xercise- 2 _
Shan Cement Ltd’s annual dividend is Tk. 30 per share and th
12%. Find out the market price of the shares if:

(1) Dividend is expected to grow at 5% for 5 years followed by 6% Constant growth rate fron
' Yyear 6 to infinity. : :

(i) Dividends are expected to grow at 6%
 from year 5 to infinity.

e firm’s required rate of retur

for 4 years followed by 7%, constant growth r:#

xercise- 21

Uttam Finance Ltd. is considering a cash purchase of the stock of Rata Shoes Ltd. During
‘ear just completed, Rata Shoes Ltd. earned Tk, 60 per share and paid Tk. 36 dividend per sb*

“he company’s dividend grows at 10% per year for next 5 years, then at 8% for next 3 years 4
% per year for infinity. If required rate s 14%, what will be the value of share?
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- ; H‘;aisvs;zél:nda;esu :;:a‘ie‘dha common stock of Ronya Electronic Ltd. The company pays
acs)cak" Y ithout growth rate. If the discount rate is 13.5%, what is the value
stock”
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g.ss.a(;n t‘\ias purchased' a common stock of Monya Electronic Ltd. The company pays
3 ?:h a sl:::lk"’m per year without growth rate. If the discount rate is 14.25%, what is the
of the '

Tk
glue

| o |
GAT Industry has a face value per share is Tk. 100. Its return on equity is 12% and it follows a

licy of retaining 60% of its earnings. If the cost of capital is 14%, what would be the value of
(he share: |

1)

|
MAX Industry has a face value per share is Tk. 100. Its return on equity is 15% and it follows 2

po\icy of retaining.65% of its earnings. If the cost of capital is 15%, what would be the value of
the share? -

hE

0

Ixercises |
ABC Company pays a dividend of the Tk. 15 pér share. Company’s growth rate is zero percent. If

(he cost of equity is. 13%, what will be the present value of the share?

;

p&Q Company pays a dividend of the Tk. 16 per share. Company’s growth rate is zero percent. If
the cost of equity is 12%, what will be the present value of the share?

|

Mrs. Sufia Begum has purchased a preferredstock of Remax Company for 12 years. The face
value of the stock is Tk. 2,000 at the rate of 16% dividend. If the required rate is 13%, what is the

present value of the stock?

J

ixercise- 3 , A
Mrs. Shahana Parvin has purchased a preferred stock of Omax Company for 15 years. The face

value of the stock is Tk. 1,000 at the rate of 17% dividend. If the required rate is 12.5%, what is
the present value of the stock? o .

]

xercise- 31|
Mr. Nazibur is planning to P
value of the stock is Tk. 1000 and
calculate the value of the share.

urchase a preferred share having a maturity period of 10 years. Face
dividend rate is 12%, when the expected rate of return is 9%,
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Mr. Nazrul is planning to purchase a preferred share having # maturity periced of
when the expected rate of eetiyen 4

value of the stock is Tk. 1000 and dividend rate is 15%.
calculate the value of the share.
Mr. Azizur Rahman is considering purclmsim!

maturity period of 5 years. The face value of the
cost of capital is 15%, what is value of the stock?

[Exercise- 34].
preferred stock from Rona Electronic Ltd The face vyl
lrﬂ p - af &

'Mrs. Meem has purchased a perpetual
of the stock is Tk. 1,000 at the rate of 16% dividend. If the expected rate return i: |

e
'

a preferred stock of Alex Leather Tid
stock is Tk 100 and dividend rate 12 1270 174,

" the value of the stock?
Ltd. The face + Vs of

Mrs. Sadia has purchased a perpetual preferred stock from Bona Electronic

the stock is Tk. 5,000 at the rate of 15% dividend. If the expected rate return is 12%, wha

value of the stock?

Mutual Trust Company has Tk. 1000 perpetual preferred stock on which it pays a dividend of Tk

10%. Assume that this type of preferred stock is currently yielded 12% dividend. Whar

value of the stock?

[Exercise- 37 o
A Trading Corporation is planning to evaluate the value of its outstanding preferred share fuvin
Tk. 1000 par value and paying Tk. 120 dividend per share, similar risk preferred sharzs are

currently earning at the rate of 9% return.
What is the value of the outstanding preferred stock?

(i)
(ii) If an investor buys the preferred stock at the value estimated above in condition (i), how
much would be gained or loosed per share if he sells the share when the required raie s

11%? Explain.

‘Exercise- 3& ‘
ABC Trading Corporation is planning to evaluate the value of its outstanding preferred share
1aving Tk. 100 par value and paying Tk. 15 dividend per share, similar risk preferred shares ars

urrently earning at the rate of 10% return. -
What is the value of the outstanding preferred stock?

)
i) If an investor buys the preferred stock at the value estimated above in condition (1), how
much would be gained or loosed per share if he sells the share when the required rate 15

12%7? Explain.

xercise- 39 :
setul Electronic Ltd. is planning to pay earnings per share (EPS) of Tk, 30 and dividend payout
io is 40% on its common stock. An investor requires o 12% return on the investment. The

with rate is 5%. What is the value of the stock?
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e Baqgl%(:(esg;dtd' is. a mature firm in electrical industries of Bangladesh. The Company

cccently paid 1% fas a divided per share. For its maturity as well as constant sales and carings

the management of the firm feels that the dividend will remain at the current level for the

foreseeable future. .

() If thecost of capital is 15%, what is the value of the stock?

Ul e f'lrms r.lSk s 'perceived_by market participants suddenly increase for that reascns
cost of capital raise to 16%, what is the value of the stock? '

|E.\'ercise- ‘@.
Suppose that you are interested in buying the stock of a company that has a policy of payinga$6
per share dividend every year. Assuming no changes in the firm’s policies, what is the value of a
share of stock if the required rate of retun is. 11 percent?

Micro Inc. will pay dividend of $ 2.30 per share next year. If the company plans 10 increase its
dividend by 9 percent per yeat indefinitely, and you require a 12 percent return on your
investment. what should you pay for the company’s stock?

E cercise- 43 '
Suppose you know that a company just paid an annual dividend of $ 1.75 per share on its stock
and that the dividend will continue (0 grow at a rate of 8 percent per year. 1f the required retum

on this stock is 10 percent, what is the current share price?

Exercise- 4&. :
The next expected-ann
dividend to grow at an an
22 per share, what is the r¢

4al dividend for Sun Inc. will be § 1,20 per share and analysts expect the
nual rate of 7 percent indefinitely. If the Sun stock currently sells for $

quired rate of return?

E\ercise- 42
A share of common stock
and are expected to groV al
investors in the stock?

currently sells for 110. Current dividends are $ 8 per share annually
6 percent per year indefinitely. What is the rate of return required b,
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. ' y sclling for Tk. 320 a share and expected 4, "

The share of Simat Pharma Ltd. is currentl L 350 after recerving the
Tk. 12 per year. If you buy the stock now and sold it for k. 350 afte e
what rate of return have you earned?

i : Tk 350 a share and expected i,
- The share of Seema Pharma Ltd. is currently selling for 1 "Ik, 390 after receiving th Fw,
Tk. 15 per year. If you buy the stock now and sold it for Tk. Chast

what rate of return have you earned?

I
h face value of Tk. 100. The expected coupon rate 1.,

Mr. Maruf has purchased a bond whic : 15 12% whae ™
bond is 16% each year in the next 8 years rcspec(ivcly. If the discount rate 1s 12% » What . ™
present value of the bond? ' .

Exercise-s] |
which face value of Tk. 1,000. The expected coupon rs ¢,

Mr. Mustak has purchased a bond 5 . 1A
the bond.is 18% each year in the next 10 years respectively. If the Gisacnus 5xis 18 108, sy

the present value of the bond?

» .
Hobby Beverage Ltd. has issued a bond, face value of which is Tk. 200 at 15%’7 COUPON rite
interest for 12 years. If the discount rate is 12%, what is present value of the bond? -

value of which is Tk. 500 at 16% coupen ry -

Boby Beverage Ltd. has issued a bond, face
interest for 15 years. If the discount rate is 13%, what is present value of the bond?

d at par value of Tk. 1000 for 10 yeass. T

Sunmit Power Ltd. is thinking to issue a new bon .
coupon rate of interest is 18% annually. What would be the price of the bond if required rue ;

12%?

Exercise- 55 ' ' ‘

Summer Power Ltd. is thinking to issue a new bond at par value of Tk. 1000 for 10 years. T
roupon rate of interest is 18% annually. What would be the price of the bond if required rae s

13%? g

ixercise- 5
'retam Bank Ltd. has issued a new bond at par value of Tk. 5000 at 12% coupon rate that pa
alfyearly. If the required rate is 14%, calculate the value of bond at maturity period at § years

i

xercise- 5 |
rotan Bank Ltd. has issued a new bond at par value of Tk. 5000 at 12% coupon rate that j4"
fyearly. If the required rate is 14%, calculate the value of bond at maturity period at 8 years

xercise- 58 Y | |
woham Paribahan Ltd. has outstanding bond issue that will mature to its Tk, 5000 par val<"
‘years. The coupon rate is 16% pays semiannually. Calculate the value of the bond if eV

eis 15%.
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) Jate
e nd should be bought?

¥ which b0
)

] Amin is planning to il.wcsl in cither of two bonds Bleah have Tk 8 g shue B
,1r.R‘; aate of interest. Bond X is 12 years mature period & Bond 7 s 14 o
&P cglculate the value of Bond X if cost of capital is 107 |
3 calculate the value of Bond Z if cost of capital is 11%

(

R’: which bond should be bought?

{ )
@xe "ine {0 value of the bond of ABC Company from the information g w=n =
5 e= 15%;  face value = Tk. 2,000

D?Scoun[ rate = 12%; maturity periOd =10 years.

“nine to value of the bond of PQ Company from the information givesn St
(oupon Fate = 16%;  face value =Tk. 2,500
piscount rate = 13%3 maturity period = 15 years.

tssume the following information for an existing bond that provides ammual coupen s

pirvalue = Tk. 2,000; Coupon rate = 12%;

Maturity = 5 years; Required rate of return by investors = 11%.

() What is the present value of the bond?

() If the required rate of return by investors were 14 percent instead of 11 percent, wiat s
be the present value of the bond?

) If the required rate of return by investors were 9 percent, what wouhl be the
of the bond? .

Exercise- 6
Assume the following information for an existing bond that provides ammual conupuan pas s
Fit value = Tk, 5,000; Coupon rate = 15%:
Maturity = 10 years;  Required rate of return by investors «
9 What s the present value of the bond?
) 1fthe required rate of return by investors were
9 II? the present value of the bond? i
the required rate of return by investors
Value of the bond?

2%
14 percent atead ol | Vet

were 105 percent, what would e e @
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A TK. 2000 par value bond bearing 14% coupon tate havi r
mﬂmm)’ Lllmnuy sells at Tk, 1,800, Interest i "ﬂvl AT ANTY ;vl v
return is 11,5%, find the intrinsic value of the bond?

E\t‘l‘(‘lﬂ‘- il
¥ ‘..' ¢y

A Tk. 1000 par value bond bearing 15% coupon rate havirg eract
maturity, currently sells at Tk. 1,200, Interest is paid semiannually 1040
return is 12.5%, find the intrinsic value of the bond?

_ I
1 1 et 7 Wik

Electra Company Ltd. issues a zero coupon bond having 10 yzars matie
value. If required rate of return is 13%, what is the present value of the bond”

Electronic Company Ltd. issues a zero coupon bond having 8 years maturity we, -,
value. If required rate of return is 12%, what is the present value of the bond

Assume the following information for an existing zero coupon bonds:
- Par value = Tk. 1,000

Maturity = 5 years

Required rate of return byinvestors = 12%.

How much should investors be willing to pay for thesc bonds?

# PErrinagd .

Xercise- 1 :
Assume the followmg information for an existing zero coupon bonds:

Par value = Tk. 2,000

Maturity = 10 years

Required rate of return by investors = 11%.

How much should investors be willing to pay for these bonds?

EXCPCISE- z

Mr. Shohel has purchased a perpetual bond from a pharmacculncal company. He will ¢
1,000 as an interest per year forever. If discount rate is 11.5%, what is the present vaw -

bond?

Exercise- 7.
VIr. Shahed has purchased a perpetual bond from a pharmaceutical company. He wil &
000 as an interest per year forever, If discount rate is 12,5%, what is the present vl /

ond?
rxercise- 73

. Tk. 1000 perpetual bond is currently trading in the market at Tk, 950. The coupon rabe of 0%
1% and discount rate is 16%, what is the value of the bond?

xercise- 5

Tk. 100 perpetual bond is currcnlly trading in the market at Tk, 96, The coupon rate of
% and discount rate is 15%, what is the value of the bond?

.~
-
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what is the value of the bemd, of e @07

> . 115 annual interest ;
\'ff( w- l pay Tk mlel‘bsl nto pcrpeluily, Wh{“ i.\ ‘hc Vﬂ‘llf: of the hmrl‘ f the comt

o -
W s has outstanding a Tk. 1.0
Justrie s, ? + 1,000 par value bond with an 8% coupen interest Fate T
(e 12 years remaining to its maturity date,
i

i sterest is paid annually, find the value of the bond when the required return 15 (1) Tty
pudicate for each case in part a whether the bond is selling at a discount, at a premuurm. of 5
) 5 par value.
y Using the 10% required return, find the bond’s value when interest is paid sermannualily

Ixeffise- /

# jpstrcs has o s@ding a Tk. 2,000 par value bond with a 14% coupon interest rate. The

4 fus 10 years Temaining to its maturity date.

If interest is paid annually, find the value of the bond when the required return is (1) 1575,
) 12% and iii) 15%?

y Indicate for each case in part a Whether the bond is selling at a discount, at a premium, oF

its par value. :

) Using the 10% required return, find the bond’s value when interest is paid semiannually

Nample- Sal A
\bond face value is Tk. 2000 at the 14% coupon rate for-12 years. If the market price i T
10, what is the yield to maturity of the bond?

Jample- 81| ‘ o
\bond face value is Tk. 1000 at the 12% coupon rate for 10 years. If the market price is T\ ©

latis the yield to maturity of the bond?
dercise. 82 i -
% sales price of Soton Pharma Ltd.’s bond is Tk. 950 with coupon rate of interest is
Uible yearly. Where as face value of bond is Tk. 1000 with 10 years to maturity.
';) Calcu]atg YTM on the bond using approximation method.
) Calculate YTM on the bond using trail & error method.
Iy Compare the yields of A & B. Discuss the utility of approximation method.
*hmethod should you prefer & why?
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[Exercise- 8
The sales price of Sotom Pharma Ltd.'s bond is Tk. 980 with coupon rate of intereat o 4y
payable half yearly. Whereas face value of bond is Tk. 1000 with 8 years to maturity
(A) Calculate YTM on the bond. using approximation method.
(B) Calculate YTM on the bond using trail & ersor method,
he utility of approximation method Which me,

(C) Compare the yields of A & B. Discuss
should you prefer & why?
A 12%, 10 years bond of Tk. 2,000 has been issued @ 5% discount and redeemed @ 49
premium. If flotation cost is 2% of face value, then calculate its approximate ¥ TM
A 14%, 12 years bond of Tk. 5,000 has been issued @ 4% discount and redeemed @ 3o,
2.5% of face value, then calculate its approximate YTM.

premium. If flotation cost is
== The Chapter End ==
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